
ANSWERS. V
+ xy* + y''. (15) a'»-2a2b + 4ab2-8b' (i6j 27x^
- i8x--^y+ I2\y2 -8y«. (17) 8a''+ I2a-b+ i8ab- + 27b"«.

(fS) x* + 3x^y4-9xy-+27y=». (19) x"-x''' + x'* -x-' + x'-^

~x+i. (20) x"* + 2x''«y + 2xy24-y"*. (21) a'' -a" + 2a- -2.
(22) x- + 2\y + y- - xz-yz + z-. (23)a + b-t-c. (24) a-f b
-c-d. (25) x'-^+y-^+z- -xy-xz-yz.
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a4-b-c. (3) a- b. (4) 2x. (5) a + a**. (6) -2b + 2c.

(7)3a-b-c. (8)a+3b-4c. (9) S^- (io)4a. (11) x.

(12) -x-2y+6z. (13) -5a. (14) 2a + 4b. (i5)iix
-36y. (16) 2ia + b. ([7) 2x- 3y+ I2z. (18) -a-
+ 8b'--9c". (19) -50c. (20) -a- iob + 2c. (2i)x + c.

(22) x- -ax + b. (23) x'-^- (a- 2b)x-2ab. ^24) x^ -px + q.

(25) x-+ax-2b. (26) x'^ + bx + a^. (27) x^ --ax- 4-bx.

(28) x* + (p-q)x'-^+pq. (29) px2 + qx-|-r. (30) x'-^

-hCn-HOax-a"-^.

IJ.- (i) (ax — bx -f- ex) — (ay - by 4- cy)
;
(ax -ay)

- (bK - by) + (ex - cy). (2) (ax» - dx») + (bx"-^ - dx")

+ (bx-cx-2x) +(7-c). (3) -(a^x-a'-^y) - (7a-l-ab)

-(2X-3). (4) (ax^-|-3x*)-h(bx--8x*'2)4-(3bx-9x)-f-7.

(5) (6ax=i ~ bx'») 4- (4bx''2 - 2x-'^) + (ex - 5x) + (ab - 8). (6)

(loax'* - 8x'*) 4- (6ax'- - I2x-') -f- (9X - 3ex) + 4. (7) (3cxS

-2a'fx''')-l-(3x^-4bx^)-f-5dx-4abe. (8) -(bx* -l-2a-\^)

-(3bx'*-4x^)-(3x'''-ax-). (9) -(abx^ - 7x")-(abex'*
-8x"*)-(3c"x-9ax). (lo) -(rx'* -a'-x^) -(bx--ax-
-f-5x-\ (11) -(3ax*-6b-'x* + rx-^-|-7x*)-(2bx4-5e-x).

(12) - (-5ax-'^-4cx"') - (-3ax^-f 6bx-- 7ex=') - (- 2ax
+ 7bx). (13) (2.1 3b)-(4e-5d)-(4e-3f); (2a- 3b
-4c)-t.(5d- 46-^30. (f») -(b + 5c) + (6d-3e)4-(4f
+ ^0; -(b-|-5c-6d)-(3e 4f-g). ('5) -(3-^-4y)
- (2z - 3a) 4- (2b - c) ; - (3x - 4y 4- 2z) 4- (3a 4- 2b - c).

(16) (4c-2d)+ (3e4 2x)-(y-|-5z); (4e - 2d-|-3c)4-(2x y
-5z). (17) -(2m-3n)-|-(4a-61))-(5x-7y) ; -(-m
-3n-4a) - (6b-l- 5x-7y). (18) (3p 4- 2q) - (4r+5m)
-l-(3n - 2a)

; (3P+ ::q - 40- (5"^ - 3" + -O-
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(3)9. (4)7. (5)11. (6)7. (7)2. (8)2. (9)3.
(10)4. (:i)9. (12)56^.(13)2::!. (.4)9- ('5) -4].


